

















(850) (*3)

40%
1,000 60% 600
320 250
x1 3 31 x1 4 1
PSL
(1,000) PSL 80 (920) (*1) (920) 320 (600) 0 (600) (*2) PSL
700 700 700 (320) 380 0 380 700
(300) 80 (220) (220) 0 (220) 0 (220) (150)
(70)
150 150 150 150 (52) (*4) 98 98
50 50 50 50 (17) (*5) 33 33
PSL  (80) (80) (80) (80) 80 (*6)
(60) (60) (60) (60) 21 (*7) (39) (39)
/
(160) 0 (160) (160) (160) 32 (128) (128)
(*1) 920 = 60% 600+
(*2) 600 = 60% 600+
(*3) 850 = 60% 600+
(*4) 52 = 150x ( 920- 600)+ 920
(*5) 17 = 50% ( 920- 600)+ 920
(*6) 80 = PSL
(*7) 21 = 60x ( 920- 600)+ 920



